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QUESTION 1

A user is complaining about missing privileges when executing a query. How do you configure the
indexserver trace to obtain the missing privileges?

Please choose the correct answer.

Response:

A. Select trace level Error for the auditing component.

B. Select trace level Warning for the authentication component.

C. Select trace level Info for the authorization component.

D. Select trace level Debug for the authenticationcodec component.

Correct Answer: C

QUESTION 2

Which combination of source and target systems is allowed when you perform a database copy in a scale-
out scenario?

Please choose the correct answer

Response:

A. The source system can have 4 hosts. The target system can have 2 hosts.

B. The source system can have 4 index servers. The target system can have 2 index servers.

C. The source system can have 2 hosts. The target system can have 4 hosts.

D. The source system can have 2 index servers. The target system can have 4 index servers.

Correct Answer: A

QUESTION 3

What tenant information can you monitor in the Overall Tenant Statuses app of SAP HANA cockpit 2.0?
Please choose the correct answer.

Response:

A. Security status

B. Used memory
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C. Isolation status
D. Instance number

Correct Answer: B

QUESTION 4

logical error occurred in one tenant of your SAP HANA database. What action do you perform to make the
tenant consistent again?

Please choose the correct answer

Response:

A. Recover the system database. The affected tenant is recovered automatically.

B. Recover the system database first and then recover the affected tenant.

C. Recover the affected tenant. The system database is NOT recovered.

D. Recover the affected tenant first and then recover the system database.

Correct Answer: C

QUESTION 5
Response:

A. Calculation View
B. Analytic Privilege
C. HTML file

D. Flowgraph

Correct Answer: ABD
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